

BID TABULATION

DATE: October 17, 2024 AT 10:00 A. M.

LICENSE NO.

BOND

West Lauderdale Water and Fire Protection Authority **OWNER: DESCRIPTION: Proposed West Lauderdale Water System Improvements**

Contract No. 1 County Road 90 Water Line Extension

DWSRF Project No. FS010204-02 WL24 113

CONTRACTOR: Eady Contracting, Inc. **ADDRESS:**

PO Box 190

Russellville, Alabama 35401

50186

5%

Talley Lambert Construction

Flat Rock, Alabama 35966

5329 County Road 81

54863

5%

START: 10 Days 10 Days COMPLETE: 60 Days 60 Days

COMPLETE:				60 Days		
Item No.	Description of Item	Approx Quan	Unit Price	Total Price for Item	Unit Price	Total Price for Item
1.	6" Class 200 PVC Pipe, (Including Bedding and Backfill Material) Furnish and Install Complete Per LF	14,000 LF	\$ 34.00	\$ 476,000.00	\$ 70.00	\$ 980,000.00
2 .	6" HDPE Pipe, Pressure DR9 (Directional Boring) Furnish and Install Complete Per LF	750 LF	\$ 398.45	\$ 298,837.50	\$ 600.00	\$ 450,000.00
3 .	Fire Hydrant Assembly-Complete Furnish and Install Complete Per EA	8 EA	\$9,000.00	\$ 72,000.00	\$ 15,000.00	\$ 120,000.00
4 .	6" Gate Valve with 2" Operating Nut Valve Stem, Valve Box, Lid, and Valve Marker Furnish and Install Complete Per EA	4 EA	\$ 3,000.00	\$ 12,000.00	\$ 2,000.00	\$ 8,000.00
5	Air Release Valve Assembly Furnish and Install Complete Per EA	4 EA	\$ 7,000.00	\$ 28,000.00	\$ 10,000.00	\$ 40,000.00
6	Wet Connection at Station 0+00 Including Tapping, Equipment and Material to Connect to Existing 6" Main. Furnish and Install Complete Per LS	1 LS	\$ 6,000.00	\$ 6,000.00	\$ 5,000.00	\$ 5,000.00

Item No.	Description of Item	Approx Quan	Unit Price	Total Price for Item	Unit Price	Total Price for Item
7	Wet Connection at Station. Including Tapping Sleeve and Valve, All Labor, Equipment and Material to Connect to Existing 6" Main. Furnish and Install Complete Per LS	1 LS	\$ 6,000.00	\$ 6,000.00	\$ 5,000.00	\$ 5,000.00
8	ALDOT #78 Stone for Driveway Replacement Per Ton	200 Ton	\$ 40.00	\$ 8,000.00	\$ 40.00	\$ 8,000.00
9	Class A Concrete 4" Thich Including Wire Mesh to Replace Cut Concrete Drives Furnish and Install Complete Per SY	200 SY	\$ 80.00	\$ 16,000.00	\$ 300.00	\$ 60,000.00
10	Rip Rap, ALDOT Class 2, Installed in Drainage Ditch as Required Furnish and Install Complete Per Ton	100 Tons	\$ 50.00	\$ 5,000.00	\$ 75.00	\$ 7,500.00
11	Cleanup and Seeding of Right-of- Way Furnish and Install Complete Per LS	1 LS	\$15,000.00	\$ 15,000.00	\$ 30,000.00	\$ 30,000.00
12	Service Line Reconnect ³ / ₄ " Municipex Pipe Installed on Main Line Side of Road Furnish and Install Complete Per EA	15 EA	\$ 1,000.00	\$ 15,000.00	\$ 1,000.00	\$ 15,000.00
13	Service Line Reconnect ³ / ₄ " Municipex in 2" HDPE Casing Pipe (Bored Under Road to Meter). Furnish and Install Complete Per EA	4 EA	\$ 4,802.50	\$ 19,210.00	\$ 1,000.00	\$ 4,000.00
14	New Service Line Connection to Meter Box (Meter Box Provided by Owner) Per EA	3 EA	\$ 1,000.00	\$ 3,000.00	\$ 400.00	\$ 1,200.00
15	New Service Line Connection to Meter Box (Meter and Box Provided by Owner) w/ 3/4" Municipex in 2" HDPE Casing Pipe (Bored Under the Road) Per EA	4 EA	\$ 4,802.50	\$ 19,210.00	\$ 1,000.00	\$ 4,000.00

Item No.	Description of Item	Approx Quan	Unit Price	Т	Total Price for Item	Unit Price	Т	otal Price for Item
16	Road Bore Installation of at Station 85+00, Includes Encasement Pipe, Spacers, Carrier Pipe and Fittings Per LS	1 LS	\$16,045.00	\$	16,045.00	\$ 16,000.00	\$	16,000.00
17	Road Bore Installation of at Station 145+00, Includes Encasement Pipe, Spacers, Carrier Pipe and Fittings Per LS	1 LS	\$18,045.00	\$	18,045.00	\$ 14,000.00	\$	14,000.00
	TOTAL OF BASE BID				,033,347.50		\$	1,767,700.00



BID TABULATION CONTINUED

DATE: October 17, 2024 AT 10:00 A. M.

OWNER: West Lauderdale Water and Fire Protection Authority
DESCRIPTION: Proposed West Lauderdale Water System Improvements

Contract No. 1 County Road 90 Water Line Extension

DWSRF Project No. FS010204-02 WL24 113

CONTRACTOR: Norris Brothers Excavating

ADDRESS: 22 Northside Lane Crossville, Tennessee 38571

LICENSE NO. 49033

BOND 5% START: 10 Days

COMPLETE: 60 Days

COMPLI	ETE:			60 Days
Item No.	Description of Item	Approx Quan	Unit Price	Total Price for Item
1 .	6" Class 200 PVC Pipe, (Including Bedding and Backfill Material) Furnish and Install Complete Per LF	14,000 LF	\$ 90.00	\$1,260,000.00
2 .	6" HDPE Pipe, Pressure DR9 (Directional Boring) Furnish and Install Complete Per LF	750 LF	\$ 300.00	\$ 225,000.00
3 .	Fire Hydrant Assembly-Complete Furnish and Install Complete Per EA	8 EA	\$ 5,200.00	\$ 41,600.00
4 .	6" Gate Valve with 2" Operating Nut Valve Stem, Valve Box, Lid, and Valve Marker Furnish and Install Complete Per EA	4 EA	\$ 2,000.00	\$ 8,000.00
5	Air Release Valve Assembly Furnish and Install Complete Per EA	4 EA	\$ 5,200.00	\$ 20,800.00

Item No.	Description of Item	Approx Quan	Unit Price	Total Price for Item
6	Wet Connection at Station 0+00 Including Tapping, Equipment and Material to Connect to Existing 6" Main. Furnish and Install Complete Per LS	1 LS	\$ 6,000.00	\$ 6,000.00
7	Wet Connection at Station. Including Tapping Sleeve and Valve, All Labor, Equipment and Material to Connect to Existing 6" Main. Furnish and Install Complete	1 LS	\$ 9,800.00	\$ 9,800.00
	Per LS			
8	ALDOT #78 Stone for Driveway Replacement Per Ton	200 TON	\$ 45.00	\$ 9,000.00
9	Class A Concrete 4" Thich Including Wire Mesh to Replace Cut Concrete Drives Furnish and Install Complete Per SY	200 SY	\$ 225.00	\$ 45,000.00
10	Rip Rap, ALDOT Class 2, Installed in Drainage Ditch as Required Furnish and Install Complete Per Ton	100 Tons	\$ 60.00	\$ 6,000.00
11	Cleanup and Seeding of Right-of-Way Furnish and Install Complete Per LS	1 LS	\$72,000.00	\$ 72,000.00
12	Service Line Reconnect ¾" Municipex Pipe Installed on Main Line Side of Road Furnish and Install Complete Per EA	15 EA	\$ 750.00	\$ 11,250.00
13	Service Line Reconnect ¾" Municipex in 2" HDPE Casing Pipe (Bored Under Road to Meter). Furnish and Install Complete Per EA	4 EA	\$ 2,200.00	\$ 8,800.00
14	New Service Line Connection to Meter Box (Meter Box Provided by Owner) Per EA	3 EA	\$ 1,200.00	\$ 3,600.00

Item No.	Description of Item	Approx Quan	Unit Price	Total Price for Item		
15	New Service Line Connection to Meter Box (Meter and Box Provided by Owner) w/ ¾" Municipex in 2" HDPE Casing Pipe (Bored Under the Road) Per EA	4 EA	\$ 2,200.00	\$ 8,800.00		
16	Road Bore Installation of at Station 85+00, Includes Encasement Pipe, Spacers, Carrier Pipe and Fittings Per LS	1 LS	\$29,000.00	\$ 29,000.00		
17	Road Bore Installation of at Station 145+00, Includes Encasement Pipe, Spacers, Carrier Pipe and Fittings Per LS	1 LS	\$29,000.00	\$ 29,000.00		
	TOTAL OF BASE BID					

I hereby certify that this is a true and correct tabulation of bids, received by West Lauderdale Water and Fire Protection Authority on October 17, 2024 @ 10:00 A. M. for The Proposed West Lauderdale Water System Improvements Contract No. 1 County Road 90 Water Line Extension DWSRF Project No. FS010204-02 WL24 113.

UTILITY ENGINEERING CONSULTANTS, LLC.

Roderick A. Hawkins, P.E.

